General Info

Number: PROJECT NOS. 53-17-02 & 53-17-03 (RE-BID)

Description:

FUEL PIPING AND CONTAINMENT REPLACEMENT PROJECT,

PORTAGE SERVICE PLAZA (53-17-02), BRADY'S LEAP SERVICE PLAZA (53-17-03),

MILEPOST 197.0,

PORTAGE COUNTY. OHIO

Deadline: DECEMBER 28, 2016 AT 2:00 P.M. (EASTERN TIME)

(Estimated Cost: \$2,400,000)

Bids	
Business	Bid Total
Lawrence Building Corp.	\$2,364,774.00
Empaco	\$2,399,992.00

LAWRENCE BUILDING CORP.

PORTAGE SERVICE PLAZA, ITEMS 1 THROUGH 8, PROJECT 53-17-02 (RE-BID)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		PORTIONS OF UNDERGROUND FUEL SYSTEMS	1	LUMP	\$210,000.00	\$210,000.00
1	SPECIAL	REMOVED		LUIVIF		
		PORTIONS OF UNDERGROUND FUEL SYSTEMS	1	LUMP	\$703,000.00	\$703,000.00
2	SPECIAL	INSTALLED		LUIVIP		
3	SPECIAL	STOCKPILING OF EXCAVATED SOIL	150	C.Y.	\$35.00	\$5,250.00
4	SPECIAL	LOADING AND DISPOSAL OF STOCKPILED PCS	150	TON	\$85.00	\$12,750.00
		LOAD, TRANSPORT, SPREAD, GRADE, COMPACT, SEED	150	C V	\$55.00	\$8,250.00
5	SPECIAL	AND MULCH EXCAVATED SOIL ON-SITE		C.Y.		
		DIRECT LOADING, TRANSPORTATION AND DISPOSAL OF	350	TON	\$85.00	\$29,750.00
6	SPECIAL	PCS		TON		
7	SPECIAL	STORAGE OF PETROLEUM CONTAMINATED WATER	1	LUMP	\$7,200.00	\$7,200.00
8	SPECIAL	PROVIDE AND INSTALL NEW DEF SYSTEM	1	LUMP	\$182,187.00	\$182,187.00
					•	•

Total: \$1,158,387.00

BRADY'S LEAP SERVICE PLAZA, ITEMS 9 THROUGH 16, PROJECT 53-17-03 (RE-BID)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		PORTIONS OF UNDERGROUND FUEL SYSTEMS	1	LUMP	\$210,000.00	\$210,000.00
9	SPECIAL	REMOVED		LUIVIP		
		PORTIONS OF UNDERGROUND FUEL SYSTEMS	1	LUMD	\$703,000.00	\$703,000.00
10	SPECIAL	INSTALLED		LUMP		
11	SPECIAL	STOCKPILING OF EXCAVATED SOIL	150	C.Y.	\$35.00	\$5,250.00
12	SPECIAL	LOADING AND DISPOSAL OF STOCKPILED PCS	150	TON	\$85.00	\$12,750.00
		LOAD, TRANSPORT, SPREAD, GRADE, COMPACT, SEED	150	0.1/	\$55.00	\$8,250.00
13	SPECIAL	AND MULCH EXCAVATED SOIL ON-SITE		C.Y.		
		DIRECT LOADING, TRANSPORTATION AND DISPOSAL OF	350	TON	\$85.00	\$29,750.00
14	SPECIAL	PCS		TON		, ,
15	SPECIAL	STORAGE OF PETROLEUM CONTAMINATED WATER	1	LUMP	\$7,200.00	\$7,200.00
16	SPECIAL	PROVIDE AND INSTALL NEW DEF SYSTEM	1	LUMP	\$182,187.00	\$182,187.00

Total: \$1,158,387.00

GENERAL, ITEMS 17 THROUGH 18 (PROJECTS 53-17-02 and 53-17-03 RE-BID)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		PREMIUM FOR CONTRACT PERFORMANCE BOND AND	1	LUMP	\$18,000.00	\$18,000.00
17	IB. ART.6	PAYMENT BOND		LOWII		
18	SPECIAL	MOBILIZATION	1	LUMP	\$30,000.00	\$30,000.00
					Total:	\$48,000.00

TOTAL BID AMOUNT: \$2,364,774.00

EMPACO

PORTAGE SERVICE PLAZA, ITEMS 1 THROUGH 8, PROJECT 53-17-02 (RE-BID)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		PORTIONS OF UNDERGROUND FUEL SYSTEMS	1	LUMP	\$231,400.00	\$231,400.00
1	SPECIAL	REMOVED	ı	LUMP		
		PORTIONS OF UNDERGROUND FUEL SYSTEMS	4	LUMP	\$738,731.00	\$738,731.00
2	SPECIAL	INSTALLED	ı	LUMP		
3	SPECIAL	STOCKPILING OF EXCAVATED SOIL	150	C.Y.	\$35.00	\$5,250.00
4	SPECIAL	LOADING AND DISPOSAL OF STOCKPILED PCS	150	TON	\$85.00	\$12,750.00
		LOAD, TRANSPORT, SPREAD, GRADE, COMPACT, SEED	150	C.Y.	\$75.00	\$11,250.00
5	SPECIAL	AND MULCH EXCAVATED SOIL ON-SITE	150	C.1.		
		DIRECT LOADING, TRANSPORTATION AND DISPOSAL	250	TON	\$85.00	\$29,750.00
6	SPECIAL	OF PCS	350	TON		
7	SPECIAL	STORAGE OF PETROLEUM CONTAMINATED WATER	1	LUMP	\$4,000.00	\$4,000.00
8	SPECIAL	PROVIDE AND INSTALL NEW DEF SYSTEM	1	LUMP	\$150,000.00	\$150,000.00
					Total:	\$1,183,131.00

BRADY'S LEAP SERVICE PLAZA, ITEMS 9 THROUGH 16, PROJECT 53-17-03 (RE-BID)							
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension	
		PORTIONS OF UNDERGROUND FUEL SYSTEMS	1	LUMP	\$231,400.00	\$231,400.00	
9	SPECIAL	REMOVED	ı	LUIVIF			
		PORTIONS OF UNDERGROUND FUEL SYSTEMS	4	LUMP	\$738,731.00	\$738,731.00	
10	SPECIAL	INSTALLED	ı	LUMP			
11	SPECIAL	STOCKPILING OF EXCAVATED SOIL	150	C.Y.	\$35.00	\$5,250.00	
12	SPECIAL	LOADING AND DISPOSAL OF STOCKPILED PCS	150	TON	\$85.00	\$12,750.00	
		LOAD, TRANSPORT, SPREAD, GRADE, COMPACT, SEED	150	C.Y.	\$75.00	\$11,250.00	
13	SPECIAL	AND MULCH EXCAVATED SOIL ON-SITE	150	C. T.			
		DIRECT LOADING, TRANSPORTATION AND DISPOSAL	250	TON	\$85.00	\$29,750.00	
14	SPECIAL	OF PCS	350	TON			
15	SPECIAL	STORAGE OF PETROLEUM CONTAMINATED WATER	1	LUMP	\$4,000.00	\$4,000.00	
16	SPECIAL	PROVIDE AND INSTALL NEW DEF SYSTEM	1	LUMP	\$150,000.00	\$150,000.00	

Total: \$1,183,131.00

GENERAL, ITEMS 17 THROUGH 18 (PROJECTS 53-17-02 and 53-17-03 RE-BID)						
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
		PREMIUM FOR CONTRACT PERFORMANCE BOND AND	1	LUMP	\$23,730.00	\$23,730.00
17	IB. ART.6	PAYMENT BOND	'	LOWII		
18	SPECIAL	MOBILIZATION	1	LUMP	\$10,000.00	\$10,000.00
					Total:	\$33,730.00

TOTAL BID AMOUNT: \$2,399,992.00